The address of website '_S.;cf,i_.“‘:d :

(A) URL (B) ,.ID

(C) DNS (D) Location

(E) Question not attempted.
JAWEE F T ?ﬁ'?ﬁeﬁ E‘P itz
(A) Zarua B) e
(C) Frm ecss I(D)f’ﬁﬁ'ﬁ _
®) wgefawm 00

Lol

Match List I with List IIT:;I'.J-;-

sobrig

List I (Name of the ,List IT (Place)
2O 5
Project) .
o o
~ a. Meja Dam Pariyojang ,.I. Pratapgarh
b. Som-Kamla—_Amba II. Sawai
Panyojana = Madhopur
¢. Moral Dam Panyo;an‘ellf rIII Bhilwara
d. Jhakham Dam IV. Dungarpur
Pariyojana
b NS
T [ % i get 1 & ﬁmﬁ DI
i 1 (awrrﬁdmww) . LR ()
d. "?l\_rIT 'GIT'EI qﬁ-q)lw 8F I

b. aﬁq—m—ww&qﬁw I, mmfrg—(
c. W gty qrGEsT 1. siereret
d. v are RErs IV. g

o’
Choose the correct answer from the options
given below:

M R o Rl § § w8 SR @ 14T W
(A) aIILb-LcILdIV

(B) a-IlIl, b-IV, c,-I’ FH= "
(C) a-IV. b-1IL, eI, d-

V c-11, d-I
(D) a-l111, b-I
(E) Quest&on not attempted / rgand 997

1 10313

B 44JRAC-1]

3

- fast to slow)?

1) <> it > T 8 >

Marks obtaineq by 15 students in Maths
given below:
---_--_-—--—_-_____
Marks i :
| arks obtained |5 [10 [12 [15 2]
| No.of Students [3 | 4 | 5 2 | 1§
15 TerentRfa gror wfore 3 smer ofes 913 fog g,
ww |5 (10 |12 |15 [29]
Rrenhidt s e (3| 4 | 5 | 2 [T
Average marks of the students will be-
T @1 elvaer o @rm-
(A) 11 (B) 13
() 10 (D) 12

(E)  Question not attempted / atafta S

What is the sequence of the fullowmg
memories according to Access speed (from

1. RAM 2. HDD -
3. Cache 4. Register
5. SSD

Choose the correct answer from the options
given below:

(A) Cache > Register > RAM > 8SD >
HDD

(B) Register > Cache > RAM > HDD >
SSD

(C) Cache > Register > RAM > SSD >
HDD

(D) Register > Cache > RAM > $SD >
HDD

(E)  Question not attempted ]
frefefias AT @t b Ry % e (A
€iY) %9 H @

1. W 2. wmEd
3. N 4. ez
5, TETEE

3 forg e et & & W TR @1 =

@A) F>dE> > w0

P> W> W >0
ET(;)) a:iglf; >iﬁ&1>’(ﬂ>qﬂq€'§‘>qﬂﬁ

(E) ma-’ffﬂﬁ ER]

[ pPT.
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. Ty,
(A) TR ey
r\i %)
(D) FovereT e
i
- .
Match List I with List . .
List I (Impol'}ant LISt I iy
(B -
Places) (8% ik *Y)
& Tigan E%?ﬂ X Q“fub-u-ddmA ibak
y 1
b. Hawa M%al I Sultan Ghiyasyggip
< Khilji
c. Adhai Dinka  TII. Mirja Raja Jaj Singh
Jhompra o A
d. Ajmer Sharif  IV. Maharaja Sawai
Dargah % Pratap Singh
T 1% e i 11 ot e it
T (g ) g L (e v
:Ei: feran Tan)
a. WG T A I FIgeN &
b. o1 HEw N 1L th -
ad ' Raeail
0 fiE
C. 3w et wmy ity TN fortt o o
d. srve o) o TV, sercr g R

ns
Choose the cqrrect answer from the optio

given below:
R g e e 0 T T L
(4) - a-I11, BV, c-I1, d-I
(B) a-III,%V, c-1, d-1I
©)  a-mm, B, c-1V, d-1
(D) gy, 831 oIV, d-II

i'Eal
(E) Qucstu:m not attempted /

ﬁ 44JRﬁb':-l]

The value of (0- 04)-2-5

Given below is a sentence in s passive
Select the best option to changet

Voice, . N oo

Some boys were helping thewounde

1. The wounded man washelped by some
boys. 0

a5 The wound;:d man Was%ing helped by
some boys. m

- 3. The wounded man was been helpcd by

some boy ' N

4.  The wounded man had‘%een helped by
some boys. K:ff

Choose the most appropriatedhswer from the

options given below : o

y ‘!
- (A) 2only (B) E@nly
(©) 4only (D) 3and 1 only
() Question not attempte% '

s

g
The dlﬁ'erence of squares of@gyo consecutive

odd integers is always dlv:sfﬁle by: -

ﬂmﬁ“m%aﬁwm@
3 ot e e 5

W6 T @ 9N
O ©

(E) Question not attempt QEQ
i { SRR gy
O

e —

i

will'be -

(0-04)™ 1 0% gy £

(A) 3125 » (B) '@5
© B . © B

Question not attery .
® Pled/ Sy
BEE

[Prg,

S
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11

are unique kind 6fprimitive immature

cells that have a remarkable capacity to

develop into different kinds of cells.
(A)
(B)
©
(E)

Epithelial cells
Epidermal c:e‘lkl’sC R
Primitive cells (D): Stem cells

Question not attempted

- THH YHTX B AN Tqiqesq
i Bl ¥ R Refteet w2 iR &
foofrd 89 & o e A )
@& s R
(B) st wifynt .
(©) onik=ifdeerd .
D) Qqa—ﬁf&mﬁ' g b
(E)

SART W

+ 7gP i

Match the given words?of List [ with their
corresponding words in List II.

ListI - ListJI
a. Director 1Y Fareer
b. Accountant ' H-_II;".!'E"EITW
c. Insubordination  IIL .ﬁ%{sﬁa
d. Resources | IV. ~W @R
Choose the correct answer from the options
given below : 5
(A) a-ll, b-III, c-IV,d-1
B) I, bIV, oL -1l ¢
(©) a1V, b-L, L I [
(D) a-l, b-I1, c-1II, d-IVE .|
(E) Question not attempted |

R

12 Air gets polluted due to various

13

1
2
=,
4

5

rea
Identify which are NOT the direct cay
air pollution. :

Dust storms

Smoke from volcanoes

Domestic sewage

Agricultural waste

Burning of wood and coal’
Choose the most appropriate answer from
options given below: i 2
(A) 1,2and4 (B) 3and4

(C) 3,4and5 (D) 2,3and4
(E) Question not attempted

TA1 3 BV & TSI el &1 3978 € 39 & 7e

1
2
3.
4
o A

Y § 91 TgHT BT BT T8 & ?
e 9 afre
SETEHE § Fepear gert
T HTSTe
BT it _

WHS! T BIAR BT T

A g g et § & Gy Sy sav @ 9
1,2 4

(A) (B) 3aik4
(C) 3,485 (D) 2,334
(B) srgafia g

What are the advantages of IDE (Integrated
Development Environment)?

(A) Saves time

(B) Auto correct source code

(C) Easy to develop

(D) Reduces cost

(E) Question not attempted

.28, (§feifes Samuie Tamta=) % T T
L _
(A)
(B)
©)
(D)
(E)

Y HY Fad

A @is &7 = b B
Terepra BT A
TG A & SN §

T 997

[ PT.0-
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Which of the followip

4 ing js ¢
protocol? - R mogt gy
() UDP (B) pop
€ TCP~ ®) Frp
(E) Question not attempteq :
frafafad ¥ | @9 q Treterter
a7 N g
@ 38 B) Ty
€ &€ D) a4
(E) orgafd wes
15 Inaclass of 40 students the datg of ‘he'ight of
t}fe students and their number in that range is
given. The sum of upper limit of modal class
and lower limit of median class is
Height in cm. 140-1145- 1150- '..155:- 160 -
145 |[150 |155 |160 |165
No.of 9 | 10
Students (f) 3 ; 13 ik i
40 feenRieit @t s & Se) wrTEAl ST SH HE
# P 2 et ané%IW_mﬁﬂj
qm ofx et war @1 Prawr Q6B
. - e
TEE  [140- [ 145- |150- | 155- -122'
®h®)  |145 150 |155 [160 |19
m w 6 12 9 L
ey | 2 |
@) 310 (B) 290
© 305 (D) 300

- - e 95
(E) Question not attempted / F3°

ﬁ 44JRAC-1 1

16

qul, CPp

Identify theicorrect statements.

1. i Ifan zirtlcle of 200 is sold at a loss of

- 25%. Its S.P. will be T 250.

2. IfC.P. =% 56.25 and Gain = 20%, then
S.P. =% 67.80.

3, IFC.P. is'96% of the S.P., then Profit
(gain) is 4%.

77100
= - - x S.P.
" 100+ Gain%
HES T
Choose the most appropriate answer from the

options given below:

(A) 3,2and4 only

(B) 2and 4 only
_(C) ‘land4only (D) 1,3and2only

(E) Question not attempted
T B D TEA i |

1. X200 9wi us eg Y 25% wfr o day &
T 7w ¥ 250 25y '

A aﬁﬁ%a@uﬂsazsaﬁm:zo%%,
- ﬁrﬁmw:?m.sosﬁw

3. w&mw,ﬁmmm 96% &1 1 wYy

[PT.Q,
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18

Which of the: followm% is a contactless

protocol? i

(A) HTTP (B) UDP
© b (D) 'TCP
(E) Qﬁ_{gstmn not attcmpted
ﬁ““"‘ﬁ”ffﬁﬂﬁ H ¥ B G HThEN Wb % ?
(A) Qﬂ@ﬁﬁ’r By 8
© &« O) A
® ogefawm
N |
e A

A l:aull:)%ig\;.;i connected to amelectr1c1ty source
of voltage 220 volt. The current flowing
through, is 0. BOA The power of the bulb is:

(A) 66:Watts

| {1i:
(B) 660 Watts :
© 73p¢ 102 Watts 1

D) 6{§Waﬁs sy

(E)  Qistion not attempted

%ﬁﬁﬂ’ﬁﬁﬁﬁﬁyﬁmh
TR A 0,30 A ) wog &)

©) 73'%102qp ol
o¢

D) 66w

(E) @:ﬂ?ﬂﬁ‘}rﬁ

19 AR TN X ot ey e
(A) éﬂﬁ;ﬁmﬁm- (B)! | £ -
© BT 0 iy P
(B) sgaf@wer o
e
& 44JRACHY]

e i

20

21

- Choose the correct

(A) <DD> (B) <OL>
€ <ur» (D) <UL>
(E) Question nqtpttempted B
qaaqqqaﬂgazm%mﬁwi’f |
FRED
A <@rEes &3 (B) <ol g
© <ge> o D) LT
(B) orgafia gedsyp

e R b

Match List I with List II:
List I (Metal / List IT (Pmperty)

Non-Metal) (& 1
a. Mercury Ié"j Hardest natura] 1
E‘ substance and ; 1sa

gy non-metal /|

b. Iodine Iy A non-meta] Wh.lcl

=3t is good conductor,
= electricity

c. Diamond III. A lustrous non-md

d. Graphite IV, : The only metal wh
¢y is liquid at room
‘0 temperature
;@Ia;mw:hﬂafrﬁamaaﬁm
T (mysrary) - I (Révern)
a. Iy BT Wl vard
o o
b, smEEm II.  us srarg =it g an
N T
e #r IH’3 T IR FEg ¢ |
d. ez

IXF STepel T i G |
8O I ameae |
wer from the opﬁoﬂ:

|

given below:

%.ﬁwqfawﬁmmmwm
- (A)  a-IV, b-111, ezl d-II

(B)  a-IIL, b-1V, celyd-II

(©) a-1v, b- III, AL, d-1 }

(D)  a-IV, b-1, c-IMj d-IT

(E)

i
Question no{:gttempted / Blj?fﬂ'ff e

Which tag is used zlqr bullet list in html?
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An element X is sof a

knife. It can not be kepe 7 b€ cut vigy
reacts VIZOrously with Watér Id ' air anq ¢
(A) Sodium e oty X

() Calcium @) Phosphoroys

s agneg;
(E) Question not attempteq gnesium

X U 7T e & ST gy

@wﬁwﬁmmﬁiﬁlﬁm%l
muagﬁ.ﬁvﬁﬁﬂﬁaﬁmm%lxzaq;ij
(A) qifsan B)  wimprg l
(C) iceraH

(B) STgaiid 9ed

0. No. 23-27 : Read the Jollowing Passage and
answer the questions that follow :

Bhutan is a mesmerising 'mix of lofty |

mountains and deep valleys on the southeast slope
of the Himalayas. Towering peaks reach as high as
24,000 feet (7,315 metres).

Also referred to as the land of the thunder
dragon is a trekker’s paradise and an
environmentalist’s dream. With 72% of the country
under forest cover, Bhutan’s pristine ecology is
home to endemic and endangered flora and fauna.

This spiritual land is the last bastion of ?he
Vajrayana school of Mahayana Buddhism, which
Provides the essence of the identity of the 7,50,000
Bhutanese. Bhutan is a unique blend of the old and
Tew The country is slowly opening up to the m.Ode.Tsl
W‘“‘ld whilst maintaining a fine balance With 1

Acient traditions,

‘ 0 Bhutan’s first nationa
mog marked the country’s shift fro
\ﬁlﬂf{mhy to a constitutional MONArC™ oy

Its ethos, it was a peaceful transitio -

The tourism industry in Bhutan iS.fcniiltlczu1.11'isrrl

*Principle of sustainability, meaning ﬂ]la friendly;

154, ¢ CnVironmentally and ccologic® > ble. The
ny *ell as socially and culturally az_fctid pecause

uflheulr of visitors to Bhutan is 18 .

ack of infrastructure.

? HJRAC. ]

| elections in March
m an absolute

hy. In keeping

. Bhutan’s Government recognises that TOMELELS

1S an important means of achieving SOCi0 -economic

qevelopment, particularly for a developing country

like Bhutan. They also aim to help Pr omote

Understandmg among the people an'dj'bllild closer

ties of friendshipl based on appreciation and respect
i

for different cultures arid lifestyles. }

e 2

23 When was the first election held in Bhutan?

(A) ‘March2012 (B) March 2023
(C) March 2018 (D) March 2008

(E) Question not att‘t:rr_lptt;c:iJ
24  Match List I with ListIT :
List T (Words) ‘List II (Méaning)

a. Flora | I. Of grcét height
b. Lofty S II Culturg
1
-¢. Monarchy IIIL Planltl}ife
d. Ethos IV. Govgﬁnnent of one ruler
Choose the correct answ?l- from the options
given below : -

)
®)
©
®)
E)

a-I1, b1, -1, d-IV';
a-IIL; b-L, c-1V, d-I
2TV, b1, o1, 4]

a-I, b-TI, c-I11, d-1v
Question not atten pted

25 Select the.best option, as'an answer to the
question given below

(A)
(B)
©)
™
(E)

Due to danger r flora and fayna
Dueto }pﬁy mohntains and deep valleys
-Dug;:rf_[o forest gfea | ’LI

[P.T.O,

‘. . .
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26

27

28

(B

- option. i

|

|
Complete the followmg scntence using the
best option : i
Bhutarl is a unique bl;:_xid'fo old and new
o by ; :
as | . - ij.rj
(A) there is a fine balance between modem
world with anmﬁnﬁ tradltlons

nekv visitors arefcomlng more often

(B)

©)
D)
(E)

-ther__ci: is socio-ecﬁit;’l‘pmic development.
thcie' are old and new people around.
Que(su(m not attempted

9.

Complete %e given sta%ément by choosing the
suitable option. g‘zg )

The touristh industry 4 dn Bhutan is founded

on the prlr\mple of sustainability which
means

(A)
(B)
©)
(D)

=3
tounsm has to be restrlcted
tourlsm has to bé’ ecologlcally friendly.

tourisn has to bg ‘6a§ed on religion.
tourismjhas to be;promoted.

Questioii' not attéimpted
{3

1 o

Given below i an eX¢lamatory sentence.
Change it to assprtive form, choosing the best

2\5

have ! 3

What a dellcu\us flaVour these mangoes
5 k
1. These mangoes ha}{g a delicious flavour.

2. These deliciqus mangoes have a good
flavour. LSy '

3. The good flav & is%:f these mangoes only.

4. The mangoes dre delicious.

Choose the corre arﬁwer from the options
given below : Eg G

(A) 2 only “«(B) 1 only
(C) 3 only T ) "1 and 4 only
(E) Question not ttempted

= 44JRAC-1] =¥

30

31

(A)  Small Intestine
(B) Stomach
(C) Brain |
(D) Liver H .
(E) Question not attempted N
AR 1SR, e e e ¥ s
Frretferfiaa & & R aim @t wnfera e 22 & 4
(A) ®Fr arrg m-
-(B) e - _ iiz

© whaw i
(D) =pa :
(B) ergafta wsw - Al

o
Choose the option where the prefix hasbeen
used correctly in the words given below: -
1 Initial @D

o
2.  Innumerable < 3
3. Iritate it
4 Unless ' '
5. Irreparable
Choose the most appropriate answer ﬁggl the
options given below : - e

- of Rajasthan? g |
(A) Tonk (B) Dungarpyray
(C) Churu (D) Ajmer 0§
(E) - Question not attempted
Frfeiaa & & wetea™ &1 a9 41
F G A I (o) R :
A) 3w ®) gy 9
<€ & (D) s

effecfs the -

(A) 1,2and5only (B) 2and 3 only
(C) 3,4andSonly (D) 2and5only -
(E) Question not attempted <l

[ rpj‘-I‘.O-
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is called the City

¥ | J\) Ahmedabad ®) f:;earl .
(C) Chennai D) H;::"e
'f( E) Question not attempted Tabaq
p j.--—-——— @ Aifagy BT 17T FEY ¥

,(:A) SEANIs O A 1) g
© - D) e
, g}_:;) Gﬂﬁﬁ?{ BEL

3 '_"}.ill.‘he common factor of (43‘” e 4141) ' .
an

( 13 +41%) will pe .

(434|+4141) e (4343+4143)ffmzi

£ )

r@ﬁ@gw@m?

() (43"'3+4143)
:?LEB) (43“_‘+41“)
© 84 '

“(D) 3
(E) Question not attempted / Frgara a5

ti'

34 Ratlo of the number of girls
class is 24:16. What is the percentage®
In the class?

(50 3 e e g 9 24
*‘Wﬁ%lmﬁﬁgﬁ?@faﬁmm

B) 56
. @) 60

i ER]
(k) pted/ aﬁﬂﬁ“

Question not attem

HIRAC. ]

of gl.l'lS .

) -y ia?

» Who is called the ““Rocket Womall gffnd
(4) i A
(B)
(©

Janki Amma
KalpanafGhawla
Aditi Pafit!
M) Ritu K*lri::ﬁ al
(E) Questioriiot attempted
TR At <R i R ot T E
(A ey s
- (B) oo v
© ol garty
©) g wrsy
(E) \"H?ﬁrﬁ‘d Ef&ﬁ
a4
36 Fill in the corrcét article/ determiner in the
‘sentences of Lls{I selecting from List IL.
List I List I1
a. Hari kncw man I. a
who was klllcd yesterday

b. Sri Lanka i igy,  island. 1II. the

‘¢. My motherteaches in IM. the
_collegé

d. Januaryis " first IV. an

month of the]lqyf:ar

ChOOSe the correct answer from the options
given below : €

(A) a-l bl c =1V, d-111

B) a-IIl, b- II c-[ d-1v

(C) a-1V, b- ll C -1, d-1

®) all b-IVie-I, d- 111

(E) Questloq_qpt attempted

37 ﬂgmwa#rmﬁﬁrq,

> [ I).'I'.().
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38 The literacy percentage among males in
'Rajasthan as per Census 2011ds _ .
2011 2 TRAUET ¥ STFETT, TR § Yoy 9y
HIT gRierd ¥
(A 79.2% B) 1 72.9%
(C©) 78.9% (D) 75.7%

(E) Question notattempted / gaite g

39  Which of the following is NOT an QOP
(Object Oriented Programming) principle?
(A) Friend class '
(B) Encapsulation '’
(C) Inheritance 157
(D) Data abstraction:ic:
(E) Question not attempted
= & @ 3 W eladl. (s siftdfs
i) et @i

> |k

B) sagwen 7
(C) dsmw B b
(D) afiewst &1 |ERT i1
(E) srgaiawsd

Jr 8%

40 Danger signals are red in colour because -

(A) Red light is scattered maximum by fog
or smoke. ol

(B) Red light is refracted maximum by fog
or smoke. o o '

(C) Red light is reflected maximum by fog
or smoke. ¢ on

(D) Red light is scattered least by fog or
smoke. £

(E) Question not attempted

TAL % Goba A 1 % By & e -

| ?

(B) T WebeT, gamgﬁ'ﬁﬁa%afwewﬂﬁﬂ
B # |

(C) mmﬂ,gamgiﬁﬁaﬁmmﬁq
Brar &1 b .

(D) mmﬂ,ﬁumgﬁ”%mmm
T ¥

(B) &g U

g 44JRAC-1]

o

from 41 to 44,

(A) T WamTsT, T 2 o ad ifere W |
??ﬁﬂ |

10

Direction : Question No. 41to 44 """

Marks obtained by five students M, N, p'
and R in English and Maths are shown in the gi‘,'ﬁ
bar graph. Read the graph and answer the questig,

fde1 : 997 7. 41 @ 44 7% 1

gt faenffdi M, N, P, Q &t R & aih &
iftrer 3 wret i A g we wms F e e ¥ 1o
3 ofr w41 & 44 w1 37 ) :

60 g 2—
= = & 2
50 2 22 Ha
[.L] 2] o = =
€ dE = 3
£330 - el =
O'E =
o K 20 - =
-t T —]
3 =
= 10 - -
0 ofel
M N P Q R

Students (D7)

41 Which student has scored the highest averag
marks in English and Maths?

B ¥ foemedt 3 Rl oft it & arftresam o]
&feh T fopg ?

(A) N (B) P

(C) M D) R

(E) Question not attempted / sgafed ¥4

42 How many students have got more than 4
marks in Maths?

(A) Two (B) Four

(C) Three (D) One

(E) Question not attempted

ey Rrenifell 3 e 4 40 it & w0
T feg 2

(A) A (B) dr

(C) (D) T

(B) oTgaie 9T . [p_.T.U-_;
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“h|ch StUdent the rat

o the mapy

I ned in Maths anq g
t:aicanlmum? o~ "Elishis the
o P 1 T SR Sttt argre
@IEEL |
(A) R w0 (B) N :
© Q o @ M

) Question nO’t:attempted / aﬁﬂﬁﬁ}'{sﬂ'

y Total marks Obt"‘“?ed n English by all he

students is - L

o Pt T ST ¥ et ey o ¥
(A) 195 -y (B) 200 '
(C) 205 j; (D)

(E) Question not attempted / aaaﬁa ;ra:f

N Syl
§ P R a9y T BT ST e ¢ ¢

e
(A) FwIT éfiq

C) @m o
: €

(E)  ergafa geey

bg;jﬁ

6 115 women or 30.

(B) W&
(D) <&@

and 20 girls stitchin 18 days?
(B) 300501

(D) 400 suits

(A) 320 suits ’*&i
©) 360 suits ¢

E)  Question n'oﬁ? attempted
a o crsfisat 18 1 ¥ 2
1S o an 30 wstol e

irls can stitch 270 suitsin |

18 days, then howymany suits will 10 wometl,

70|

47

1.

t correct

Choose the statements which are BOL=———"
in the contexf of Rajasthan. €

1;

5

Area_ of Rajasthan is 1%/: of India’s
total area. Wﬁ!

Literac}’-percentageﬁaf people of

" Rajasthan is 52.12%. 7

There are'928 females, fjor every 1000
males in Rajasthan.

Galo_uu I§abab and Gantfllfgya are famous
foods of Rajasthan.  *

Under British, the i¢ld name of
Rajasthan was Rajputana.

Choose the correct answer fl‘”éﬂm the options

given belows. i~ i
(A) 1and i"-‘cmly <t
(B) 2,3 and 5 only

(C) 2and4only b
(D) 1,2 and 4 only w0

(E)  Question not attempted-

rﬁ%ﬁqwmaﬁﬁ@r%mmgﬁ%?ﬁw%
ded # T8 7o §: c‘)

1.

3D PG

. 104% %1

4 'm@aﬁaﬁwszué%
3. __uwﬂrsr%woomm Fo9
.qﬁ%TrITQ,‘%I g | 928
4. WW@TWW%W
aﬁﬁ%l
5. WETW’*WWW
i E}Jﬁmw@m
() e 184 !
@prazlds @
(© ¥4 o

) et 1312 ofiT 4 )

(E)

e e <

[PT.O.
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49

Match List I with List II:
List 1 List 11
a. ‘Dronacharya’ of I - Limba Ram
Rajasthan -- "
b. “Waterman' of 1.  Karan Singh
Rajasthan ¥ (V15 8 \
¢ 1 :"\l‘lill‘l‘n’ of | 111. Gokulbhai
- Raj.qsth'm Daulatram Bhatt
d. “Gandhi’ of IV. Rajendra Singh
¢ : i |Il'l
Rajasthan ' .
e A
'q:v?r I il 'Q:t'f'l 11
o, T @ AomeRi oL foerTm
b, T &7 armd ) 1L BIeRE

c. reredr @1 ‘e ol g

6! AATH W
d. TR @ Ay GoilV. TeERiE
Choose the correct answer from the options
given below:

(A) a-l b1V, -1, dIT -

(B) a-II, b-IV, c-III d-FF"

(C) a-lll, b-1, c-IV, d-IT:7;,

(D) a-I, b-1V, ¢-III, d—II- ”

(E) Question not attempted / /aied WsT

BVl RN -
Arrange the given metals in order of their

decreasing reactivity,

1. Zinc 2. " Calcium
3.  Copper 5 “f‘. Potassium
5. Lead B

A & T ergel B S stfihear & e ©
ST 9§ Aatyd Hifrg |

1. v (R 20112 g
3. @ 4, varefrEd
5. € () R

Choose the correct answer :from the options
given below: it oy

e R Ty Rreedt § § ST T TAT DI
(A) 4, 2, 1, 3’ 5 (B In!zj 43 1, 5’ 3

(C) 4’2’1’553 I(bl 4, 1:25355

E)  Question not attempted / TR me

S0

51

52

“house at a speed of 12 km/h. What is hi

Arrange the following Chief Ministerg '
Rajasthan in chronological order:
Bhairon Singh Shekhawat

1.

2. Vasundhara Raje

3. Jai Narayan Vyas

4. Haridev Joshi

5. Hecra Lal Shastri
AT TTer & gegHtar &

afters o

1. *ifte Sramq

2. ggua TS

3. STHATIIT =1y

4. wieg w9l

5. e emed

Choose the correct answer from the optio
given below:

ﬁ%ﬁqmﬁmﬁﬁ%qﬁrmmmaﬁm
(A) 5,3,41,2 (B) 3.4,5172
© 5,4,3,1,2 (D) 3,542 1
(E)  Question not attempted / argita g5

A boy goes to school from his house at a spest
of 8 km/h and comes back from school to b

‘average speed?

(A) 10 km/h (B) 9.6 km/h
(C) 11km/h (D) 10.6 km/h
(E) Question not attempted

Teh dTeie I & kel 8 0./H. @ g & s
3l e w@w 9 °Y 12 AL/ Sram

T aTas B o T T e ?

(A) 10fednE. (B) 9.6 &AM
(C) 11fesig (D) 10.6 f6ALA
(E) orgaid wed

Who is the present Chairman of ISRO?
(A) S.Somnath

(B) P. Veeramuthuvel

(C) G Madhavan Nair

(D) K. Sivan

(E) Question not attempted

ISRO T S STEAE DI & ¢

(A) we e (B) W ARy
(C) i, wigew F@x (D) %. e

(B) orgaia wed

(P
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i e o e
V1
b :v;a:il?gaing.g e hen the phoge
. Hesaid that honesty i best polic
Rama promised that she will i hY.
homework. R1 er
* S gnge“ asleep while he wag reading
We arrived at the gj .
5. the checkin counter \1:,:: zrz;gfi?;sggt
the correct answer. :
gi}:’(;fls;elow : . WET from the Optiong
(A) 1,3and4only (B) » and 4 ongy
(C) 3and .5 only D)i; 1 and > Tad
(E) Question not attempted ; ;
54 g % e gy Il‘uﬁrfhmaaﬁﬁq:
T TR R
a &+ 39 L ety _
b. féeg + st 0. dewxary |
c. +am IIL TT"FE!TH&{ _ .
d. T+ €51 IV. freafs
%%nwﬁwar@mawmwaam; .
(A)  a-I, b-II, ¢-IV, d-III |
(B) a1, b-I, -1V, d-ITI
©) aIn, b1V, c-I, d-III
(D) a-IMl, b-1V, ¢-I, d-I1
€)  orgefa wew
S Who developed C language?
A Guido Van Rossum
®)  Tim Berkel
© Von Neumann
(D) Dennis Ritchie
(E) Question not attempted
C ooy (language) et Rrerrer fepem foBaT 7
Y T e (®) R
O e (D) fwf
® AT wew |
a 44JRAC..1 ]

jven belowW are senten. o

.| 58

56

57

(4)

[A)

(D)

The difference between the compound interest
and simple-interest op 4 sum of T 10,000 for
2 years was T 400, The rate of interest p.a. is-
?I0,000ﬁngaﬁ%maﬂﬁgW
WW%ww?mo%maﬁﬂT
(SfRrerd ) 2y ey ? ,

10% B) 20%

©) 40% - (D) 15%

(E)  Question not attempted / et U

_ — .
Which wag tll1e first bank established in India?
The Bank of Calcutta
Awadh Commercial Bank
The Emperial Bank of India
(D) The Bank of Hindustan
(E)  Question not attempted
W@a'ﬁ%wwm%aﬁ?m%?
(A) % aﬁq‘;‘fqum
B) vy Prfiraw §w
©) Tifaw 4w sifs e
(D) A% &t figem
(E)  orqafd wem

g -

B)
©

A galvanqm::ter 18 an instrument that
(A) | detects the presence

‘ and direction of
current in the circuit,

®)

©)
(D)
(E)

measures the Voltage acrogg the circuit.
measures the Current in the circuit.
Question not attempted
TP TR |

(A) TR ¥ R e o

S TEE S R
TR e ey gy o Y T
TR TR 2 e
afted § e

(B)
©

®

[PT.O.

4 .‘. .
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59 s @ T T @ w @i
1. W+ " 0
2 ufgﬁ L
3. WHt o
4, wfy+ s I
) Rt et § F 98 T B T HRG ;
(A) ¥2 . (B). FEW3
() sigeia 7e
60 Now-asdays, e-book readers are very popular
as they @fe convenient, light and comfortable
for the &es. Particular ink used for them is :-
(A) ORink  '"(B) MICR ink
(©) bk (D). Magnetic ink
(E) (ﬁfbstion not attempted
ST, Bt ST e 3 R ghvememe ¥ oy
T St S v () e d 7 '
(A) FLR. @
B)  Taam .o, @)
©) e ¥
(D) va‘r
(E) eraha wew X
61 2)#@%3‘1 & Ry am o=
iy B).
©) Towdh _ (Dj ; E
(E) ﬂcgﬁﬁa L S
T e WOrds of Lii | with the word
List Iﬁ:vtlrdl:)ir mt:&nmg in List II
a. In é&; fion List IT (Synonyms)
b. Big:ﬁ‘rre L Idf:a
¢. Notioy II. * Dissolve
d. Liguidg IIL;+: Beginning
Chooga th IV Unusual
%iven’h“’“clo “Lanswer from the options
A)
® f LV, g
© @y, ohdn g,
D) &Y, pyp " IL denp
(E)  Blee: S dopy
% esll()n not atte
= RAC-1) "npted
14

63 ° Which of the following

64

(D) Phishing <3
(E)  Question not attempted
B T 1 el T SRt ) e
A A d ? %
(A) wf 0
(B) awrRy P
(©) & it g (R it )
(D) feRiw
(B) ogmfmuss =

' Statempntg |

regarding G20 Summit? ' M
1. First G20 Summityas held :.

2008 tgg e

2. The Headquartersigf G20 g 41
Los Angeles, US Ay g

3. First ever Virtyal Summit of Gy,

- held at London in@g20, 3

4. Theme of India G20 was Ope put

One Family, One Fiéture.,

. G20, 2024 will be held a Brazil,
Chose the correct answer from the oy
given below: N

&) 2,3a0d5 . HP 1,2a45
©) 1.4ands  ©F 1.3and5 |
(E) Question not attem sted

2. S 20 &1 gy @ vee, PRy
3. 2020 % i 20 fyrer geiem 2 e &

GERE ] w *J
4. I S 20 TR e o - qm g

T URET, T wRE |
5. 20,2024 %R Htﬂmwﬂﬁ;g
e R T et ¥ & wivewR @1 wa AR

(A) 2,3dR5 B) 1,285
©) L4485 D) 1,3at5
(E) srgafe wew o

Which attack blocks a@gitimate user frof
using computer? <f
(A) Spamming 0
(B) Virus O
(C) DOS (Denial of Sgrvice)

P19

|

<
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63

66

ﬁﬁ]%mﬂ@nmﬁam%:a,;

L T I

g, frg 47T L It Wiy

p TABH L e

., T + &S L & gy

d- q'ij-i'm IV u“I'ﬁ'f?-T
mﬁqmﬁmﬁﬁwwwaﬁﬂﬁml_

A) a-111, b-11, c-I, d-TV
(B) a-I1I, b-I, c-II, d-IV = _ '.'1.'.'.
(©) a-1V, b-111, c-1, d-I1
D) a-l, b-II, c-III, d-IV

(E) &gaid 999

Fill in the appropriate prepositions in the
blanks of List I from List II.

List I List IT
a. Heisblind __ one eye. I. . into
b. The boy fell . his bike. II. of
¢. Rohitisfond _ children. 1L in
d. The lion jumped _ the well. IV. off

Choose the correct answer from the options

given below :

(A) a-III, b-1V, c-1I, d-1 -

(B) a-II, b-1V, c-1, d-III
(€)  a-IL, b-I11, ¢-I, d-1V

(D) a-I, b-II, c-10I, d-IV

(E)  Question not attempted

_ y |
What i the widith of “Rajasthan’ from 2S5

est?
(4) 839 km (B) 896km
©) 899 km (D) 869 km
E) Question not attempted
T 2 e & e 7 A A ¢
) 839 ety B) 896
€ 890 sy D) 869 el

70

|m

68  “Which of tthE

69

. AT

o lfﬁiving was the largest milk
Stribution organisation in India in 20222

W Kwality (@) Amul

(©) Nandini (D) Mother Dairy

_ (E) Question not attempted

ﬁq&fﬁﬁﬁ F 497002 % v a1 @ 7w 5

WS B 1 e 7

(A) eyt ) (B) o

©) =fehr | (D) weEx FTh

(E) v Y ; .I'zu: i',l' .Eﬁ=

SUMTRIRE 41T B /) (5

4 oy At sl : . 2n

Ifmean of firsty natural numbers is —-, then
-~ the value oft4Rvill be-

' Aoty

Al yorm n 1A Feansit w1 e % , A n bl

T () &

B 4
© 3 D) 2

(E). Ql_llestic?ﬁr not attempted / SR W9

The unit digit in the product |
71 %72 xﬁ?wa_ S S Wouins x 79 will be -

W?l'x%?mx ...... s ® 0 TR
T P S s MR .

MRS DL

© 0 ) 4

(E) Question not attempted / srgafia v

LU T ;

The dimensions of ler{gth‘and brezidth of a

" room, when increased by 3 meters are in the

ratio of 3:3 and when decreased by 2 meters

- are in the ratio 0f 2:1. The length of the room

in meters will be -

s 7 B, T i eherd, e
3maﬁqﬁﬁﬁwmmmwm
5.3 B & T D 31 2 3 8t ot e e ot
201 9 T ¥ X By e s i g vt
(A) 22 B) 12

VI
©) 24 sqot, (D) 20

. (B) Questonnotattempted / srgafia wew

[ PT.O.
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72

73

74

Change the given sentence of Indirect speech

to Direct form by selecting the appropriate

option. ;

Sudha informed me llmt she would go to

meether mother next week.

(A) uﬁudlm said, “I must go 10 meet my
"lpothu next week with you®,

(B) qSudha said to me, “I may go to meet
=your mother next week™.

(C) “Sudha said to me, “I shall go to meet

my mother next week™.

(D) ¢Sudha said to me, “1 would go to meet
gmy mother next week™.

(E) \Question not attempted

w5

as

Whlch of the following diseases is prevented
by BCG vaccination?

(A) = Tuberculosls

(B) Typhoid

(C) Hepatitis B

D) dholera

(E) Questmn not attempted -

et % & Fra m a1 e R F |

% B BT S E 7
) T
(B) zym

(C) RAefEB

(D) chmm
(E) fﬁﬂﬁﬁﬂ LESI
<t

Whiq:.t?) city of Rajasthan is known as the
“Venice of the East™?

(A) ‘_'ﬁlountAbu (B) Jaipur |
(C) Bikaner (D) Udaipur
(E)  Question not attempted

™ & & Y o "
b m TET ] e o1 AR’ et ST

A) H;WWL (B)' SYY
(C) i (D) &R
(E )e.,;; 97

B 44JRAC-1]

16

75

76

gii)

78

The median of the g g,wcn data'9; 7,6; 7, 3 -
10,6,4,12,3 is - i

9,7,6,7,8,2,10,6,4, 12, 3 aii®mei 2

YL
(A) 20) B) 7
ﬁ” (D) 6

(L) thd.tlon not attempted / STERE m
o

fg §1
Evaluaté : 1198 x 1198

A HL : 1198 x 1198

(A) 1435224 (B) 1430204

(©) 1332204 (D) 1435204

(E) Questton not attempted / AT 97
o0

Who ls’ f,he Painter of “Bani-Thani” Pan'mrgl

(A) Nlrmal Devi - (B) Amar Singh
(C) Manmohan Devi (D). Nihal Chand

E) Question not attempted
- a'v?r*ﬁﬁfrasrﬁaaa‘r( FR) B E?

(A) ﬁfﬁﬁﬁ-c?r (B) awrt Ris
(C) Wi D). frem

' * LR
e 1% wer gt 1 o P i
a. GT‘rum 1: TTFI'{‘G&T
8 @‘ﬁ:é TR
¢ ¥i3 [ ey @ a
d. e IV. oo &
Y R T Rt & § W S @ A
(A) a7l bl c-1V, d-I
(B) m-ll b-1V, ¢-1, d-1II
© 1 b-11, ¢-TV, d-1II
(D) Lﬂ-lll b-1, c-IV, d-II
(B) iq:jﬁﬁﬁwaq
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other than camel, which of the followi
is considered as the “State zn;’m;’l\?’rlggf
Rajasthan‘? :
(A) Fox (B) Black Buck
(C) Python (D) Chinkara
(E) " Ques'ﬂonég;‘ attempted
Fe % afaied, M5 ¥ § fFg gy 2y
2 i T
(o U BT SR Ty & ? J w

(A) @ N (B |
€) F o (D)) Wﬁmﬁw
(E) Wy |
qﬁ+wm®%§%aﬁ#m%_?

1. wsEm 2. gy

3. UREET o 4. wRyme
(A) @2 ¥ (B) Faw3
© Fmw4 "F (D) ¥l
(E) srs%;g

Detergents can befused with hard water also

because - o : _‘

(A) Detergents are generally much softer
than soap.

(B)

©

vigorously:#yith hard water.

sulphonic¥4cids or ammonium salts
with chloride or bromide ions which do
not precipitate with Ca and Mg ions in
hard water: ;

(D) Detergents:are more soluble in water
than soaps.

(E) Question not attempted

ST BT GE GO S % g e S

| &0

TopaT & Fh — o

Detergents have chemicals which react

Detergent§ are sodium salts of:

83

82

84

17

- Choose the Eﬂect answer fro

1

)

Given below is a sentence 1
Translate it in Hindi and choose th
option.

Hard work is the key to Success-

1. ﬂﬁfﬁ%ﬁmﬂaﬁ’r@ﬁ%'

2. %R TR & e 6 A Y

3 m%?aﬁ,@fﬁ’rawwm‘

FCNE
m the options

4. *erwﬁﬁ'\:ﬁmaa—o’r{%‘rq

given below :
(A) 4 _ (B) 1and2
©c 3 ™ ( 1and4
(E) Questign not attempted
wf
T 1% g gt 11 1 frer i -
= @l
afsry s oo I PrgaEd

I | 9

L. weaTe G

d. mﬁa@@%%? IV. dgad a Ry
e g g ferprt & & WY IR T TE it
(A) a-Il, b-I, c-IV, d-TI1
(B) a-l, b-Il¥e-I11, d-IV
(C) a-Il, bz;g, c-1V, d-1
(D) aL, b-Ie-IV, d-In1
(E) Saa@yeT
o
- :
o ®§ § SR BT T R w3
(A) T T e T ¥ ey g Ts?r.%
(B) f%m'oﬁ@%‘a:qaﬁ} ey & l
(€)oo TR I i ey 3
) &l
e R =y gy =
- : |
C),
e
L=

®)

BT

e,
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g5 o QA e S g & T A E?

(E) oTgaiiat e ‘
86 Which of the following is used to check
synonyms in MS-Word?
(A) Auto check
(B) Whatif
(C) Thesaurus
(D) Spell checking |
(E) Question not attempted =~
T - ¥ e s B s o % R
P & & o i Re s _
(A) s d (B) itz 5% (o )
©) dmma (D) A 3w
(E) orgafa e e i
87 The sum of rational numbers from the
following : '
V23,4225,0.3796, 47 is-
- (A) 15379 (B) 17.64
(©) 19.79 (D) 7.43
(E)  Question not attempted '
23,225, 0.3796, /7 wemmsit § & widy
HEei &1 A Ry gy 2
(A) 15.379 (B) 17.64
©) 19.79 (D) 7.43
E)  sraia gem '
88 Which ig the. most advanced. printing |
: technology?
(A)  Thermal Printing
| (B) Las'erj et printing
(©)  Inkjet Printing
gg)) 3-D printing
~Question pot attempted |
T A B fifes pvafsrér s T ¥ ?
D R B e e
E)  sryafen yom o g
= 44JRAC-1)

(A) RY+ 3T+ X = FRTHI
(B) m-}—ﬁﬂ"‘aﬁ:wﬂﬂ
(©) aqﬁ-f-i-ﬁﬂ'l“'ﬂ]_{:m
(D) FrR + =@ = el

18

:

89  Match List | with List II:
List I (Disease)

List I1 (Deﬁcien
a. Pellagra I; Vitamin A,ty
‘b. Marasmus I1. Vitamin g
c. Goitre | I Protein
d. Xerophthalmia IV. Todine
-qgﬁlaamu-@llwﬁamwz
. T I (T T T ()
a. en . L frefma
b. ATEw II. Refmp.
c. ey II. 9
d. St v sy

Choose the correct answer fro
~ given below:

?ﬁ%ﬁqﬁqﬁmﬁd‘fﬁr%v@rwmwﬁﬁﬂ
(A)  a-IL, b-IIL, I, 4.1V

- (B)  a-IL beIIl, ¢-IV, dT -
(C) a-II, b-I1, c-IV, d-1
(D) a-Il, b1, c-III, d-IV
(E) Question not attempted / a7 99

m the optig)

90  The vaccines prepared through recombin®
DNA Technology are -

A)
(B)
©
(D) Third generation vaccine

(E) Question not attempted
% Sren it gt DNA (o) difad
ST ST ¥, 97 BEwa & 7

(A) et drdt t St

(C) <ehr Gt w1 Fawr

(D) ety e = Zrapt

(E) rgafia qe

First generation vaccine
Second generation vaccine

Fourth generation vaccine
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9%

3

%NJRAC-I |

(ateh [ist I with List 11

;fﬂ [ gfrt G 111 Brermt oy,

N
ist 1/ ] E,., List 10 / gy gy
| 3x (18
11 =0.008 (7 T
“' (5) o0 =3
o
i 1)
. 2x-1 =256 111 x=1
4 o f 4 |
14 _ A _
6. # =Jme IV x=9

Choose the corrget answer from the _Options
given below: gy

i fog g RrebediH | wd o a5 Hiftr:
(A) a-lll, b-1, %J, d-1v -

) a-l, b-IIL, -1V, d-11

a-111, b-1, c-1V, d-I1

a-111, b-IVsle-1, d-11

B
C

e

(
(
(D
(E)
<f A |
Given below @re the sentences in which

degrees of adj éﬂc}:ives have been used. Select
b Ry
the correct seng_ga! ces.

. Heis the strongest man.

2. No other musician was better than him.
3. The crocoéiip is the largest of all reptiles.
4. This place'd near to my home.

. ! : 115 b
Choose the coggct answer from the optio

given below : ‘N:

() 2and3 o (B) 2and4

© 3and4 g (D) 1,22md3 .
E) ~Question not attempted

‘ N ‘
T Rt 1 T BT

N oy O @) ¥

©) vw g © T

. o
E) ot won
er\'\gl
eg:t!

. €L . i
Questmrggot attempted / oTaRa ¥e7 |

94

95

19 :

Conversion of Organic matter to compost With
the help of earth-worms is known as -
(A) Manuring
(B) Ve I'l'I{i : quwpo Stl ng
(C) COm]jijS!ij:lg '
(D) Decomp ;ition
(E)  Que SﬁOI}ff}":ot_ attempted _
e %1 Hgelt @ gerar & @ A I

(A) @wr @ (B) i I
©) wmifer (D) arvE
(E) Wﬂ?ﬁm;ﬁ

Identify the staég'nents which are not true for

‘antibiotics’. ps‘.'ﬁ.,

1.  Antibio c& are substances which kill or
‘inhibit t}ié;;growth of disease causing
organismggu_

2. They areseffective in the treatment of
both bacterial and viral infections.

3. Erythromycin, penicillin and crocin are
few exan ples of antibiotics.

4. Antibiofics like penicillin blocks the
process¢syinvolved in the synthesis of

. cell wall.in bacteria. _

Choose the most appropriate answer from the

options given:below: ‘

(A) 2and3enly (B) 3and4 only

(C) 2and4eoply (D) 2,3 and4only

(E)  Question not attempted

ﬁwrfaﬁaaqﬁ%? ff'@(ﬂoil‘l‘é‘r B ‘URER F e w&
i e
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96 Which of the following does not give instant | 9g | G 1% Y T 11 ot et Gl
messaging? K
(A) Yahoo Messenger T T
(B) Facebook Messenger a. WEHT 3 gam L oy
(0 Goagle ClmDS b. g g wwwrd B AT I
(D) Google Hangout : ; )
(E) Question not attempted e St ey g et =& #rrar 111 Ty
Wﬁ%ﬁﬁﬁfﬁ%ﬁﬁﬁﬁﬁﬁ%? d. e gen IV. &g
(A) g FHTT (B) WHgm Ao A Rt & & T8 ST BT, T4 iy,
(C) @ HH (D) T Feree T RE T | , :
(E) argafta wed : (A) a1, b-III, c-1V, d-1 |
(B) a-IIl, b-1, c-II, d-1V -
97  Match List I with List II: (C) " a-lL, b-1I1, ¢-II, d-IV
List I (Books) List IT (Writers)
-1, b-I1, c-1V, d-III
a. Zakhm Ke I. ~ Veer Bhan @) el bl oy,
Charon Oor i (E) ogafia s
b. Gunbhasha II. . Shiv Chandra
. ' Bhartiya : | 99 Chips manufacturers usually'-ﬂush bags of
¢. Raj Rupak III. Hem Kavi | '+ chips with gas to prevent the chips
d. Kanak Sundar, IV. Mahi Madhukar from getting oxidised.
Kesar Vilal (A) Nitrogen
Hﬁllﬁmﬁ@ﬂﬂﬁﬁﬁw (B) Chlorine
T 1 (geF) T I (7r&) (©)  Sulphur dioxi
R ey . ulphur dioxide
b TureTET I freemada |- (D) Hydrogen
c. T BUH . ¥ & (E)  Question not attempted
| 4. B G, AT e [V, ART AGHT s St sxfirerere frey =t wrafr 243 & 54
|: C.hoose the correct answer from the options % fT w7k &y aﬁ Y e
i given below: L
A) AAEEeE
(A) a-1V, b1, c-1, d-I11 B) =W
. (B) a—IV, b-I! C‘HI, d_II' (C) TEHT gﬁaﬁ?}ﬁﬁg
.||, (C) a"III, b-I’ C'H, d-W .
i;ll (D) a_w b"IH 1 oy (D) =EEseE
| (E)  Question n; attempted / a@ﬁ-ﬂ ol (B) ogaia wem
& 449JRrRAC1) 20 [ PT.O.
L ———————— A
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00 104 : Read the Zivep P
Q’ et the questions thqy Jollo,,
JFJJE orcise makes us feel good

ag cf”eful@

feels good to have a gty ong,
a” actwltles you enjoy E

gd 40 jyputus in a better mooq, Whe s

e .1 releases a chemical calleq “q

e pral nakes US feel happier. This ig

\yhlcn why we should exercise 1

2450

However, Some people feel

that yoy-
reise if it is hot. ! shoulq

jot ex© ,
Actually, summer’s heat , and hulmdlty
gouldn’ 't keep you from exerms;ng

you just need to take precautlons Some of
fiese are : '

y Exercise in the morning or evening, When
temperatures are lower.

v Wear light coloured clothlng,

which are ndt,'
too tight. ) |

Lo

+ Work out in shaded areas as much as possible.

v Ifyouare exercising less than two hours, dnnk
water before and during the actlwty

101

102

. b, Pain

D)

103

v After exercise, make sure you drmk enough 1

Wwater to completely quench yout thlrst . ' TR

10
Question : i 5
How does exercise make us feel happy:

Answer
hec::luse

(A)
(B)
©
D)

: Exercise m

-~

it makes you drink 2 lot of water

e ood.
it puts you in a good M

e.
it makes you g0 outside hom

it makes the brain release ‘end
which makes us happy-

ed
Question not attempt

Ry RAC-1]

ofthS

(E)

akes us fé‘?l hep

wen
Select the appropriate answer to the g i

3 ;104

. (BE)

i

Complete the foll
€ best option
You are exercising, you should not

(A) exercise.in morning or evening
(B) exercise in the hot sun

©  drink Wwater before and during the
activity

drink a [ot of water
Question not attempted

owing statement choosing

(D)
(E)

Match List 1 with List I :

List 1 (Words) List IT (Antonyms)
4. Humidity I.  Rigid

II. Worse

C. Better III. Dryness

d. Flexible IV. Pleasure
Choose the most appropriate answer from the
options given below :

(A)  a-IL, b-I11, c-I, d-IV |

(B) a1V, b1, c-1I1I, d-I1

(C)  a-II, b-1V, c-II, d-1

a-I, b-1l, c-I11, d-1v

(E).  Question not attempted

Seleet the appropriate o
the questlon that follows -

Why is it necessary to exercise‘?

Hi It is necessary to exercise because

ption for answering

it

(A)
®)
©
(D)
(E)

makes you feel more hungry
“makes you look Smart and fit
makes you fee] sleepy

‘makes the body strong and flexible
Question not attempted

Select the most suitab]e title

The title of the passage g

(A) Benefits of Exergiga

B) HapF.’Y Exercising

© PhYS“?ﬂl Fitnegsg

(D) Exercise and Happiness
Question not ; attemptey

for the bassage.

[RPT.O.
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1105

‘awwﬁﬂﬁeﬁ@fﬁ’ﬁ%maﬁ%:
() fr o ot G T
(B) Rty air ST TOTHH e
(C) e wm-0w T

(D) S § i FH AT

(E) SgERAWT

106 Which is NOT a hardware device?

107

108

(A) CPU Z;j;‘:_i(B) Excel
(C) Mouse g\;(D) Monitor
(E) Question not.attempted

@) &dg B ww

(C) =g “¥(D) HMeT

(E) srafaws '

Which tag is used tzx_;reate adrop down menu
in website using html?

(A) <Select> ;;: (B) <UL>

(C) <Menu> ¢ (D) <Input>

(E) Question notattempted

RREIRCR LA B o COERMIRE S S

(A 1 e 75) et 3 forg 2t
e emmye O

A) <> o B) <gquw

© < T o) <we

E)  ergafea wem -, i

L !

)

b
L

P

“Kandora” ornamént is worn on

(A) Neck (B) Foot

(©) Waﬂist 4 (D) Head

(E)  Question n(ft%ttempted

i S
_ —5F

A) = L B)

O = U o)

(B)  orgafa gy =s

- @B HJRAC-1]

22

109

110

111

1. Organic cark;."im’ in plants

2 Inorganic car oon in soil

3. CO,in atmo_#phere

4. Organic carbon in animals

5. Bacterial decomposition of organic
matter =t

A R o oy Y DI T % G F

HaRed g, Rt smife d da 3

L o ¥ de

2. HuH adg

3. aigHvEd ¥ €0,

4. wygst # 7 ke

5. &g gt &z e

Choose the correcfsequence from the options

given below: s

Y T T ferenedt A @ ww B TEw B

ﬁ

1.14 is what percehtage of 3,87

1.14,3.8mﬁﬁwg§rm%?
(A) 30% “ (B) 40%

©) 20% oy (D) 25%
E i
(E)  Question no’;iﬁi‘ttempted / SRR gy

Choose the correct g@quence of steps in car

cycle from the statements given below Starting
from its gaseoys source,

(A) 3,4,1,52 . (B) 3,1,4,5,2
©) 3,4,1,2,55 (@) 1,3,4,52
(E) Question nopattempted / agaia 957
.

Which ruler ofithe medieval period of
Rajasthan is cafled “Abhinav Bharat ka
Acharya”? <
(A) Prithviraj Chauhan
(B) Man Singh
(C) Sawai Jai Singh
(D) Maharana Igglmbha s

estion not’attemp
ggaﬂﬁqzmwﬂﬁ%wam“aﬁﬁm
calcic iR mﬁfﬁ? '
(A) et de, (B) e -
(©) W Riwy (D) T
(E) oTgaia N

[ pT.0 |
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(

Wﬁammﬂa*ﬂ‘iﬁwm%%%
IL

o
, I
3 L )
4’ ‘muT
5.

e
mﬁqmﬁaﬁﬁ%ﬂﬁme'_%:
» 23 B) 4

© 35 ®) 1

(E) mﬁﬁﬁ PEL]

i3 Which of the following blood group is

considered as universal recipient?

Pretferfiad & & B AT o TS W ¥ ?
(C) AB* (D) A*

(E) Question not attempted / SR FeT
114 e 1% wrer g 11 o1 Prer <hifore -
w1 R 1 |
a. sl et T [ =gd whe el
b. TrEi—arY B I wga @ el
C. STER B III. T S
d. afe W IV, ar &

%ﬁqwﬁmﬁﬁﬁﬂﬁwmwﬁm: I.

(A)
(B)
(©)

a-I1, b-1, c-IV, d-1I1
a-IL, bV, c-1, d-111
a-1, b-111, c-1V; d-11-

15wy
Which of the following is NOT a declared
UNESCO World Heritage Site?

(A)  Jantar Mantar, J aipur
(B)  Amber Fort
) Mehrangarh Fort
EIF? Iéiolafieo National Park
e;t;)%%ot attempted
UNESCO fy

*E?rf%m 8 bt 11 99 GUAT GUEL
A) I Ha,

B) amx f%mw

©) Izt fe

(D) Hawre e wam

EB) ogafa e

116 Match. the given words of List I with their
opposites in List II.
- ListT List IT

a. Interior 1. Complex

b. Simple II. Mobile

¢. Stationary 1II. Exterior

d. Private IV. Public

Choose the correct answer from the options
given below : :
(A) a1, b-IIL, c-I, d-IV

(B) a-IV, b1, ¢-1I, d-1I1
(C) &l bl I, d-1V
(D) a1, b1l eI, d-TV
(E) Question not attempted

117 Which of the following is the smallest
' fraction? -_

13 1716 5

16°1217119; 6

S e R Y e B P A AR
13 17 16 5
162119’ 6
17

21

16 13

19 D) 15

Question not attempted / i W

5
® 3

13

(A)

©
(E)

(D)
(E)

a-1, b-11, c-1V, d-111
i 99

| B4y RAC-1]
|

[RT.O.

S i)
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118 Match List I with List II,

£t di
List 1 (Speed in List 11 (Speed in
N

COKm/h) m/sec.)
0
1. 8.5 m/sec,
km/h
a. 6;1“\:11
O 5
b. 20 hnfh IL. 3 m/sec.

C. 393 km/h 1L 20 m/sec,
o
(Ua}

Sl
28

@I%@ﬁ%ﬁaﬁa&rﬁﬂﬁ:
TR TR) O . sy

a. 65, L 85%A,
&
\O 5
b. 2085/ RIS
& L
c. 3%5 fenet/e, L. 20_=?r/@r.
Tl iv 20 LR
d. 7&% 4. g !
633
Choose the corrcct answer from the options
glven“;’below
25

%ﬁqmﬁmﬂ%wwwww’h

A - a—-IV, b-11, ¢-1, d-I1I
B) l_;:“;}-II b-IV, ¢-111, d-1
©) g,&-II b-1, c-1V, d-III

. (.D) {'"_&%‘113 b'IV, C'I, d"III

< '

() <Ruestion not atterypted / argefed 97
”.'::f‘:g d

= 44JRAC-1]

119

120

24

(O a1V, Bl eI, d-

- different users?

B

Match List I with ListII :

(A

List I Y| List IT

a. Charlcsfﬁﬁbbage I EDUAC!ENI

b. John Vom IL. Tabulating
Neumariﬁ‘

Machine
II. Analytic Engi,
IV. Mechanicy

v )
C. Blaise P!@cm
d. Herman™y

Hollerith Calculator
T 1% g ’65{1 Il %1 P #hifom
T B '{j::’l‘l II

a. ey 3

éé’r?mé’rr*qwsm
b. aﬁm%v I1. areoiree 59f
C. =N qrepa 1. fyseifiys s

d. i ey IV. =it e

Choose the correct answer from the Optioy
given belowsy.

T fog o i‘%—dﬁ H A I B w A
(A) a-II, bsl, c-II, d-IV
®) a1V, b1, c-1, d-1m1

(D) a-III, bl c-1V, d-1I

(E)  Question not attempted / arwifta 1
W

Which Wek_gage is displayed differently®

(A) Homémi (B) Dynamic
(©) Cuneg;tj1 (D) Static

(E)  Question not attempted

AT WA A ST AT F e 5 {9
T § Wi et ?

08
@) & Lo

(B) SR (hih)
(C) aﬁmﬁ
(D)

E%&m:f
(E) H‘:ﬁﬁ% PEET
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State Finance Co
which Mmission js qea.
L orking in Rajasthan? pT'eSently_

l-‘\} Flﬂh : (B) JSeVenth

© Fourth (D) ﬁSIKth
(F) Question not attempti'ed

A rational number behm:én \5 and ,ﬁ -
i 1S5;

lﬁi
V2 i J"zas-qﬁam&ﬂum%a

() 264998 (B 243
- . A\D
© F2x47 Oy Y2447
e

(E)  Question not attenﬁed / AFRa ugw

“Geedar Dance is perfo%ed in which region

of Rajasthan? 6
(A) Hadoti (ngi Shekhawati
©) Mewar - (D)~, Bagad

) Question not aﬁem@ed
T er” troreerr 25 e @ der ¥ P ST 7

(A wrery (% Srararel

©) s @f; =

(E) Giﬂ'ﬂﬁ'a‘;is?f g
‘44JRAC-1] g

124 .
Mateh 1ist T with List I1:

List | (Event) List IT (Phenomenon
of nght)I;
“ The reddening of 1. ])npn,rs'mn of
the sun at sunrise light 00
and sunset i:]]
b. \;

Twinkling of stars II. Scattgi?ilngof light

c. Formation of I1I. Total Intcrnal
rainbow in the sky reﬂegﬂon
d. Mirage formation - TV, Atmé?pherlc
in deserts refragf?on of light
T 1 gy T 1 &7 forery 3%%11; g
. :
TN (we) T (widr uftees)
2 Wadrgakm 1 FHISEST UREoy
% T4 T % e 2
" " \Q
1 %1 R =
b. WA i 1, m?%rua?ruh

RN ML o iy
/-]

'Id. ’cﬁrmﬁﬁqfr&m Iv. mg;‘%,;r

%1 frrefor E“H‘l#ﬁw”: m'

Choose the correct answey fron;;.the option
Wb L s
Q

given below:,

< Ry G Rt 3 2 e L
(A) alL b-IV, c-1, d-1y1 ' -

®) alLbIV.clldg O

: 00
(C) aIL, b eIV, dyg \0)
©) slV,bILcldyy

(l“\
(E) Questmn not attempteq ;S L

%ﬁﬁ WeR
=)

[PT,Q,

D rr————tR ...
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125 Which of the following statement abouyt

«presidential Rule”’

in Rajasthan is/are

correct?

1.

Choose the correct answer from the given

First President Rule 13-03-1967 {o
25-04-1967

~Second President Rule 20-08-1977 ¢

21-05-1977

Third President Rule 17-02-198 (o
05-06-1980

Fourth President Rule 15- 12 1992 to
03-10-1993

options:

(A)
®)
©
(D)
(E)

I fiT U AW /e s e ¥ st

1 and 3 only
2 only
2 and 3 only
Only 1

Question not attempted

e’ & T g R

1

g gt gmee 13-03-1967F
25-04-1967 @&

T T I 20-08- 197713:
21-05-1977 &%

A T 9= 17-02 1980%
05-06-1980 @&

direm regufiy smes 15-12- 1992%
03-10-1993 g

mmﬁmﬁﬁﬂﬁwgﬁq:
(A) % 1 efix 3

(B) a2

© w233

(D) e 1

E)  srgafa v

Z® 44JRAC-1]

N

126 The layer of atmosphere which . Gontaing 90y,

of Ozone is :

(A) Stratosphere
©)

(E)  Question not attempted

(B) Mesosphere
Thermosphere (D) Troposphere

90% afrir, argHTST ol Wﬁfgﬁ,%k
0 (A) HHaTHEA (B) wmHEm
(C)  wmEEgHSH (D) @rss

(E) orgafa st

127

128

.26

T ®
T ©

. (A)

(C)

A woman due to her old age cannot rey
newspaper clearly. She is suffering frop

(A) Presbyopia (B) Hypermetropia

(C) Astigmatism (D) Myopia
., B) Question not attempted

wqﬁwmwﬁ#mmqﬁﬂm
Y § TEl U Tandh | o e 3 & ea ghed
GRICHE N

(A) =T gTERm
(C) srieigenar
(B)  orgafa we

(B) ewETcaziE
(D) =TT

‘What is BCC in email?

(A) Blind Content Copy

Bind Carbon Copy -
Bind Content Copy
(D) Blind Carbon Copy

(E) Question not attempted
0 & €l (BCC) wr ¥ ?
TES T Bl

TET dHrE B

TS Hwewe HIaT

G HIET Brar

ST W9

(B)

D)
(E)
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(29 Mat

& 44yrAC1]

ch List ] with List I:

List I (Name of List IT (Steps
the process) involved) .
a. Nitrogen fixation I Fonnatlfan of
0 ammonia from
(K} amino acids
b. Ammomﬁcatlé?n II. Conversion of
om0 ammonia into
™ nitrites and
= then nitrates
(o8 Denitrification’  III. Conversion of
- free nitrogen of
O atmosphere to
E{‘i compounds of
La'_§= nitrogen
d. Nitrification g3  IV. Conversion of
' - nitrates to free
: ""‘33 nitrogen
Skl I%i SIRES Gl 1% R BT
T (m Fam) 1 (e W)
a wEEeW bl L onieh ond A
Refrer  \p ot ar Pt
b. emieferTr W ML o e
o AT e & e
b LIECLES
c. fFrmgden L A A e
o TGS BT AEZ T
@;} % ARl & IR
d. w0 IV, TR w
S rgem A o

Choose the correc% answer from the options
given below:

i R 1 f‘&ﬁq’tﬁ t} G ST BT TIT BT
(A) a-IIL, b-L, c-I1, d-IV

(B)  a-IL, b-L, g=IV, d-II

(C) a1, b-IIl, €V, d-11

(D) aI, b-I\ég-l, d-II

(E) Question Eét attempted /. START We
o

i

sy

27

130

131

- (B)

- (B)

(D)

mmﬁﬁq‘dﬂw
S T O ¥, 58 @

. fagemme,
TE A gy
104

TEeRy ey
arczrti’rmzrqrrrq .
%ﬁqmﬁwﬂﬁ%nﬁwwwaﬁm
(A) ¥a&2 =

Had 3
Yam4 b4
Bl AD

( i

-hwp.)

©
D)
(E)

sy
In a domestic ch%rcult all appliances are
connected in -

(A)

Ser1es i o

If current through the circuit is high they
are conneéted in parallel and if current
islow the? ¢ connected in series

_ If current t];:ough the circuit is high they
are conneiz'éd in series and if current is
low they aré connected in parallel

Parallel

©

(D)

£xa
(E)

Question p&t attempted
T T TRAe ﬁ‘mﬁ IRt Bt et W & —

(A) Mmﬁﬁ__}
B) uﬁv&w%mwma&:ﬁm@

T W,&Fﬁs‘lw%eﬁ(wﬁ'm%?ﬁ
ERELE R SR

R ROAR a7 1w aifers & o o

3 1 Fysher i & oire 7 A E A
TR FHEH et v ¥4

LSLIRES ?5-'1%
AT 9E

R

©

(E)
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132 Which of the following is thc longest canal

133

of India?

(A) Anoopgafh Canal - - .

(B) Ummed Sagar Canal

(C) Indira Gandhi Canal -

(D) Ganga Canal

(E) Question not attempted
Frcifa & & I € Tex W Y T ey Tt
z?
(A) SEETET  (B) T WY ey
(€) st e (D) ey
(E) orgafa uss

What is/are the uses of “Macro feature” in
MS-Excel ?

1. Itis used fo send messages.
2.  Itsavesalotof time."

3.  Itdesignsithe work sheet.
4

It maintains the uniformity of
formatting changes in a sheet.

Choose the most appropriate answer from the

options given below:

(A) 2only (B) 1 and4 only
(C) 2and4only (D) 3only ;

(E) Q_uestion not attempted -

T, T~ ¥ Ay ferfreear b mm A a7

L. =% d2er A9 & fro yarr Sar |
2. UE 99T 9 999 S B

3. 9% Thele B wrEr a9 E
4.

T 0 9fre ¥ ufady 3 wreqT A A B

o G T ¥
I o T Rt & & et SR e =
(A) FEw 2 | (B) ¥ 1 3T 4
©) Faw2sirg (D) e 3
(E) orgaia wey

@ 44JRAC-1]

28

134

135

136

i

rereITerh Het 1 SUGHT SUETT A Jr 9
(A) U
(B) ®TH
(C) g
(D) uhrae

(E) ergar 997

o AT forad o uw Te ¥ F e i
1. agew e

T T
AT THE
. HUUTY 99

%mwﬁwﬁﬁﬁawmwaﬁm
(A) haw 2 '
(B) _ % 3

(C) Fam 4

(D) Faw 1

(E) orgafia wew

“Wm”wma&f%?

(A) SO (B)  gowd @

137

(©) | 3w W (D) T=EE&HET

(E) orguid wew

IS T H T Fif)

(A) T wmE
(B) sy ¥
(©) = st i @ &
(D) A A wFwd
(E) ogafa gs
(p30
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" icpala(jé On Wheels” a ]l_lXury tourist train was
jaunched on ___ '

(A) 26 January 1980

(B)
©)
D)
(E)
R AT

(A) 26wl 1980

26 January 1986
26 January 1979 ‘
26 January 1982

Question not attempted

B) 26wad 1986
(C) 26w 1979
(D) . 26wty 1982

(B) argaia ue

139 Transform the given sentence into negative

form choosing the best option from below :

Everyone present there, cheered for her. .

(A)

There was no one present there who did
not cheer for her.

-(B)

There was no one absent to cheer for
her.

©
(D)

All but none cheered for her thére.

There was no one present there who
cheered for her.

(E)

Question not attempted

'e 44]RAc_1 ]

29

140 What are the advantages of mailmerge feature
in MS-Word? :

1. 1t saves lot of time and effort.

2. It is used for designing document.

3. It can maintain the details of all recipients.
4. Tt makes the documents more attractive.

Choose the most appropriate answer from the
options given below:

(A) 2and3only (B) 1and3only
(C) land4only (D) 1only

(E) Question not attempted

g, € § Aot (Rrea) B % w A § 7
1. Eﬂﬁa@@rmeﬂtmﬁraﬂaﬁ?ﬁ%r
2. % Wi Y W S g e ¥

3. @ ¥ wrihatell @ frerr 7@ qehdT § |

4, mmﬁwmmm%u

3 R g el § ¥ @Y SugE e @
(A) Fa@23i3  (B) e« 1MT3
(C) ¥awmleit4 (D) Fawl .

. @® g

Which services are used to make website
available for 24x7 all over the world?

(A) Web hosting
(B) HTTP
(C) Tele commuting

D)
(E)
gz BT T (24x7) o B H T
frga F @ o FaTd WA H g S ¥ 7
(A) a9 ERET B) w@adq
() TFET (D) faisar g

(E) argaid 997

141

Video conferencing

Question not attempted

[PT.O.
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142 Complete the sentence by choosmg the most | 144 @ 1% e T 1 &1 R W o

appropriate option from those given below the T R I
sentence. a. omgT AL
He finished first i - he began late. b. amT e
(A) but iizﬂsBJ since C. e ’»&]H T
(C) because «(D) though d. erfafy CIJV g
(E) Question not attempted et e e foreedt & & X T o T it
o (A) @I, b1, c-IV, 11T
(B) a-L, b-IIl, IV, dall
143 Match List I with List:II : (©) all, b-l, -1, d-IV
List I List II (D) ' a-1, b-II, ¢-1V, cggll
a. Browser ONL  <button> . (E) orgafid ued

b. HTML mteractl\__{i% II. Store the website | 145 ‘g FHT q BT m% I arers & i 4 ey

element %j  onserver X4

@A) et Q) S

c. Multimedia i&ff IIl. Software use to

3 ) (C) ydmites forar =(D) debde fhar
. o Access website (E) -
d. Web hosting =% IV. Combination of *| . ‘ :
text, video and | 146 Match List I with LigJI :
' ListI Igst 11
&,‘&! ; Y
gucge a. Analogsignal IAQ Amplify the weak |
e 1wy g 1 aﬂeﬁﬁﬁ ifeTg: Al ; [;g signal and resend |
gl I b. Repeater . Connect Multiple
T -ﬁl Devices
a. |ISHY D <= c. Digital signal Iy Continuous signal
b. TH.3N.TH.Tq. Iﬁi T UT A9ERE B d. HUB IV. Discontinuous signal
' 1% arer geit It
st FHE Tl
T 'R ) s o
~c. Hel HifsA [l deEse TET @ a. e Hbd ) BT Gl 1 T
GZJ R GiweaaT & AT | ‘ -:;- m%s T ST 8
4 dwdRer W Refew gEea | b g L il
. S (Rad) ) Sear &1
% ol @ c. smEha I waw wha
Choose the correct answer from the options d wagd W' sraaa dad
given below: Es Choose the correct answer from the options
e B | given below: o
(0" @, Bell - Hi:‘ﬂ' . | ' (A) a-IV, b-II, c-lﬂ-%-l
(B) a-IL b-I, C-W;é-]] ; (B) a-lIL b-I, ¢-11, il
(C) a-lIV,b-LcIlgsImm . ©) a']rlé E : c-iﬂﬁcf =
: o (i) (D) a- e A
(D) a IH b I C-H d v (E) Quesuon not aﬁemp’(ed J aﬁaﬁﬁ P
(E) Question not attempted / ST Ff?"f (PT.O
G H4JRAC] < SRR

_

Scanned with CamScanner



7 Which of the following is NOT a hardware? 149 Match the phrases of List I wig, ‘th

14
correspondmg words of List II :

(A) Scanner " (B) Browser
(C) Monitor (D) Printer - List I List IT
(E) Question not attempted ~a. Severe shortage 1. Emeritus
frafaiad § 9 &9 ar e a@ & 7 ~ of food ' .
(A) W -~ (B) arT b. Aretiredperson  IL. Hydrophobia
(C) =rex (D) frex ~ refaining honorary
E@eaiae® . o title . . |
R " | ¢l Fear of water III. Famine
148 What are the functions of obérét{ng system? | ° 4. Abnormal fearof IV, Claustrophobia
1 banage memory: - S | confined place
= Manage cajculatlpns e | Choose ﬂie correct answer from the options
3. Manage processor time . given below : '
4 Manage creation and deletlon of files / (A)  a-IL b-L, ¢-II, d-TV
- folders :
Choose the most appropriate ansv?er e the Il el
options given below: ’ (©) a1V, b-L, c-II, d-II

(A) 2 and 3 only (D) a-I, b-1I, c-III, d-IV
(B) 1,3 and4 only (E) ' Question not attempted
(C) 1and4only '

(D) 1,2 and3 only : i 150 Who was the first person to receive Padma
% - Vibhushan Award from Raj asthan?

(E) Question not attempted ety / . _
S €7 e (A) Mohan Sinha Mehta
1. 2w oy Prife @ § i ~ (B) Ghanshyam Das Birla

' (C) Usha Sharma
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